B (REEEARTRN) ARRAEREE

RESIST-TYPE SYSTEM

KT
[RRRIKRA

HLOS

L .
» m m DPCIHEHE
m m

T T IT
W SR
/

Sk

hEESk
HLO6 e :
puRiist-rd =

/ /

=P
— t:='::'::1 ///
']

HT06

ATER SR

HTS02
ERI

_r

iR R G HE
Resist-type system

MR RGEHIERUEER, TIEsS Sk, EH.
ik, HEFHRE—MEEDBERS, RETIEENA
0. 17-2. 5Mpa, FB SHkL B SB BE120-750mm %/S, AT&5HEE S 1-501 .

BR: TRHE, FUEE, MR CilisaBnE &5,
BRAEYEIF (R, SR R fh BRI B SuEHI RS, t

HTAO2

Bt
BIR: ERTHEWR. ENRIFR. HLER, RS N
o

01



ARNARRGETEE

INSPECTING VOLUME TYPE SYSTEM

Hilfesk Bk

— TZORBER HEE
/ 3k
=1 é557//
HTA02
SHEREL
ﬂ/-FE
w/
ZiBHR
; /
13
i
pURit
HTHO3
TPARVENE R S EC 2R
/
:'::-] &=
L
HGLO8 ”
r = =1
r =4 1
—

ARNERRG R

Inspecting volume type system

AMKDEREATANDER, TEEHE, SHMH. &5

HIERAAR, AIHREN &R AR E R, RE RN
HTD10 A, HHREEEHRE, S/ HE R0 025n, B A

E50.5ml, BRGE S151. 75-3. 5Mpa, FBHHEEE SEE10-2000mm %S,

AR 8 &1-2004

TR EMSR D EERRAE; HhEEH, NREHITE
FHm, BURTTE.

HRERTHERENM. ENRIFA. HUR. 2R, KN
. RANHE.

02



BHN ARG REE

PROGRESSIVE |UBRICATION SYSTEM

FRIBHFNXDOCES
: /
HEREL
/ *E
/ ) INEITHIRS
HGLO8 / ZiBoHR
=1
SEE
/ 4
— ERBEHN AL ES
— =1
I
i
"

HGA

B ARG ELA

Progressive lubrication system
B#HIHBRGR—MSEABRS RERR. BHXES
MRS BRI, ITRIR S ER, RGUmAT, BN B
BR—EINFMEDEEEH), & HMAIRIRF—R L, HimE
FERRTEHERN SR PHERTIESEERER. RHER
BIERFMERIRRER, TR RFHRGIITINEE.

o BAXELERE; B XIEAIRIES MiT, HEmMEEH;
STHENE, FREEZSE.

RA ERFHEENE. EIRIAM. RERES.

03



—. WHEER

LUBRICATION PUMP
1 FRNEFSR HD)

Manual lubrication pump

(1) Fhizt
Pull type

® SMESRERST

Outside and installtion dimensions

fup::] i
2-96.5 He1
(3.3 oI i =t
l |
I 8IR [ 3 1
n| ™~
o [00]
AMVC RS g TT
B
75
HLO3M FH R
° MEBESREASH HLO3M i type
Product specifications
-
BS HilE (EFR) | RARLED | ABEEHGH | dHhORg HimO% i N =8
Model Discharge Max.discharge Tank capacity Discharge bore Number of diacharge typy Welght
capacity(m?/cyc) pressure(MPa) (L) (KG)
HLO3L 3.0 0.35 0.18 M8x1( ¢ 4) 1 i 7 0.3
Resist-type
E %7
HLO3M 3.0 0.35 0.18 M8x1( d 4) 1 TS 0.3
HLO3R 3.0 0.35 0.18 M8x1( & 4) 1 /R 0.3
Resist-type J
ARTHRAEEREER
Only for application in resist-type lubrication systems.
@ FEX
Hand pressing type
® IMESRERST
Outside and installtion dimensions
98
88
117
o ﬁlﬂ, Eﬂ
<
o ¢
N
1N
g ( - g
im0 HLOSR HER
WeXT HLO5R Right type

04



® IMESRERST

Outside and installtion dimensions

'Q 16
— 86 —@
2-R3.35 166
A——n\ O ~ ]
I
ol 3
g =1 =
= N
J ®)
HL16R
® HRBSREARSH
Product specifications
oY
( BS HlE (@EFx) | RAREES | AEFTRGH | HmORe HimO% i 75N =8
Model Dis_char?e Max.discharge Tank capacity Discharge bore Number of diacharge typy Weight
capacity(ml/cyc) pressure(MPa) (L) (KG)
HLO5L 1~5 0.48 0.5 EF 1 0.6
HLO5R 1~5 0.48 0.5 aF 1 R;&ﬁit 0.6
esist-type
HL16L 6~16 0.8 2 EF 1 1.35
HL16R 6~16 0.8 2 F 1.35
N A ! J
ARTHMXEEREER
Only for application in resist-type lubrication systems.
(3) FER
Hand type
o MMERERT
Outside and installtion dimensions
142 |
i |
ﬁiﬁ; 4-97 m‘ "
@ ® ! ® » -
‘ |
il :
i T S .
& C !
HRRE :
i
100 - —
148 HLO6

05




o BSHRIC K HE LA

Model number and explanations

HLLJL =L

Z=H: WHEO

Blank:Double oil outlet
8=M8*1 (¢ 4)

10=M10*1 (¢ 6)

ZH: ik (FRE

Blank:Resist—type

06=HFE

06=Discharge capacity

BRI S

® MBS EEARESH

Product specifications

Code of lubrication pump

L. AHB0O
L:Left outlet

B:#IERX (RE)

R: AiiimO
R:Right outlet

B:Pressure take—off type

4 - N
BS HiE (@A R | RAMEES | MEFRGH | HmOgRg fuchy::[mE ER 8
Model Disphar?e Max.discharge Tank capacity | Discharge bore Number of diacharge typy Welght

capacity(ml/cyc) pressure(MPa) (L) (KG)

HLOG6-8 6.0 2.0 0.6 M8x1( ¢ 4) Rt 0 137
Double oil outlet

HL06-10 O R/ EER (=

6.0 2.0 0.6 M10x1( ¢ 6) Double ‘;" o Resist-type/
N Pressure take-off
HL06-8R 6.0 2.0 0.6 M8x1( b 4) Simn (/) type 1.35
Left outlet
BHHO (B
HLO6-10L 6.0 2.0 0.6 M10x1( ¢ 6) Riglht i 1.35 /

2 BENEER

Motor-driven lubrication pump

(1) BEfEEREER (HT)

Automatic intermittent lubrication pump

BaE &R R RHME R SR SRR RIE AR, FTSSIERNEER. BT, B BRimETHEIRTIEE, 251
HaltER), BEHEORHEHEBSIEEEED, TRICHTRE, EREERTEMEGRENE, B it B AR B max 2 &g e.

Automatic intermittent lubrication pump is composed of micro synchronous motor and worm reducer, can realize the automatic
intermittent, periodic oiling. Driven by the operation of the motor driven by the worm rotation, with the worm gear,Through the eccentric
wheel shake arm which moves the plunger, oil absorption process to complete, in the spring under the action of the finished oil
action, through the metering member according to the proportion of the oil is carried to each lubricating point.

o M ERERT

Outside and installtion dimensions

06

HTO06

179

171

213

149.5

126




® BB SEEARSH

Product specifications

/ = N N D\
BS HE (B | BXMUES | BEERGH | a%eE | BE | mx R HHi C9R4r EE
Model Discharge Max.discharge Tank capacity Intermittent Voltage Power typy Discharge bore Weight
capacity(ml) pressure(MPa) (L) period (min) (\%) ') (KG)
1-6
HTO06 s . M8x1($ 4) 1.3
(2 PR 0.45 2 25 220v | 28w | _SEEAR
(Flow can be Resisttype M10x1( ¢ 6)
\HT06-10 adjusted) 1.3 y

(2) BanERHETVEER (HTS)

Automatic electromagnetic pump

B EER R 2 HERS FIEHNR E R L EE R E N ORE), EHANEREERSHER S RBEFAEEER D)
{E, HEE AT S B0, BEmOBES R, TEH. FEEMERRER TS,

The automatic electromagnetic pump is driven by the magnetic force generated by the electromagnetic coil. In the magnetic field,

the piston is driven by the piston pair and the piston is driven by the spring.The push out of the oil outlet, from the oil outlet
through the oil, metering, and other connections to the oil transfer to the oil point.

® IMESRERST

Outside and installtion dimensions

142
l——— 124
0. #[es ‘ 96
\575 o [ Jox
N 0000 ®
gl g |] A4 A ok
®
HTS05
e 142
&, . 124
8Ss =
56060 Eﬂ %
L ]
S P
& 3 e Al
®
HTSO1
’ 169
& [ 149
%8 (A [Go00 .@ : — |
L @ @
[oo]
§ . = |wan
[3Y] M8*1
: T A
\© /
HTS02

07



® HEESYFm
Performance and features
1. & E AE-—- B E BRET B 53R R B R E, RERBIICIZERITIZHE;
SRR LUREEF A BAL, TIRESERE1-99mI;
BB EREE L S S AL, AR ESEE10-999min;

2. RPIRE——— WHRNIRETHEE, HEISRBARER;

3. BEEE—— WARBSIEE IR, EEMEA TR TEIE, BAFREL;

4. 1R EHIRESRRFIG, EREMENMERBhICITRETEE.

1.Set can be adjusted--------- Lubrication intermittent time and lubrication flow can be set, set after automatic memory lock;The

lubrication is adjusted to the flow rate of the unit, can set the range of 1-99ml;The lubrication interval
is set in minutes, and can be set up to 10-999min;

2.Liquid level alarm------------- With level alarm function, buzzer call tips;
3.Compulsory lubrication------- With forced work button, in any case, press that work, release that stop;
4.Controller protection----------- With an unexpected power failure memory function, the recovery will continue the original state of work

after the accident.

o SRR HEULRA

Model number and explanations

HTS[ ][ ]- q

=H: AwEHR B:wENFR
Blank: No pressure gauge  B:Pressure gauge
3 4R 8=M8*1(d4) 10=M10*1 (¢ 6)
Discharge bore 8=M8*1(d4) 10=M10*1(d6)
e e D=m=z) ZHE=PLCIEHI
type D=Without microcomputer controller
Blank=With microcomputer controller
SRR 01=1F  02=2F7 05=0.5%
Tank capacity 02=2L  05=0.5L
EHERRS
Code of lubrication pump
® HIEBSREARESH
Product specifications
4 B HE @EHN) | ZRXALES | ABEEH [B}ERET1E] BE R EA%= EE )
Model Discharge Max.discharge | Tank capacity Intermittent Voltage microcomputer | Pressure gauge Weight
capacity(ml) pressure(MPga) (L) period (min) V) controller (Kg)
J 0.62
HTS05-8 0.5 With Without
HTS05-8B 0.5 With With 0.62
HTS05D-8B . 05 10-999 Wi e 0.65
e (BTiB] AT )
- (REFA) 1 110V =
HTSO01-8 uu.;sigg 1 (110-999 or Vﬁh Without 0.65
ime
(Flow can be : 220V
HTS01-8B adjusted) 1 adjustable) Wih With 0.65
. 1 T 0.65
HTS01D-8B Without With
, J
HTS02-8 2 With Without 0.9
HTS02-8B 2 With With 09
- J
\HTSOZD 8B 2 Without With 02 J

RRTFHEAXEBREER

Only for application in resist-type lubrication systems.

08



(3) BEhiA % TN HIEHIE IR (HTD)

Automatic gear type lubricating pump

BHEENARREH AR SHENES), BIBENNEDSTENERREEHERNEE, WhERANS, SRR ERE &,
EEHAFTUEK, BREHES, MEANERHENAFRSENERT, SRGHER. BGhARHENEE, MEEELEIIFRANEEREE
R BN EREE, XEERHANGS, EEHMEER/, SEEEEEREST L ERIR R ERIIE, BE SRR, TEHFE
EMEERERNER RS, BESHR. ERTRBMFERMEEARFSRNERRS, HhnEs&EEs.

Automatic lubricating gear pump is driven by a single-phase asynchronous motor. Through motor running driven active gear to
rotate, the oil absorption cavity disengagement, gear teeth exit between the teeth, so that the sealing Volume increases, the formation
of a partial vacuum, the oil in the oil tank in the role of the external pressure, the oil suction pipe, oil absorbing chamber into
the teeth, with the rotation of the gear will be sucked into the oil belt between the teeth.To the other side into the pressure oil
chamber, then the gear into engagement, so that the sealing is gradually reduced, the lubrication oil is squeezed between the
gears to complete the lubrication oil process, through the sub block, metering and other connections Accessories resistance type
lubrication system, the oil block, quantitative oiling device accessories connected with the volume type lubrication system, to transport
crude oil sent to each lubricating point.

° MEESHR

Performance and features

1. TER——— RGE R ENMPLCT/ERN, AN (SLR) . FFKX (PDI) . Bz (PULES) SEHEFRAMER, FREBENRIEETEXK
HITRE.

2. RS HETR—— W T TERHBRLERS. BERES, SRS,

3. ISR RIP--PLCITHIRR A B RIFTHAE, EREMBERMERBCIZTREINEE.

4. BHRIP-——AREH FTELEE, REBENHEEHRRIPRE, MRBIERE.

5 REME—RERMUIX. EHFX (FMHEER), HHEMENTEMNAPEREESHEHEBUEZTRR.

6. RR-—— R BRI, AIRPEHERRERHTESSMIRT.

7. TR -—— AR AR RGP RERERE, AJRESEETHHEER.

8. HS—-— BEHSHE, EEEREESHERTRIE LM,

9. ERFFK-———E TS, HEERSE.

Work mode---------------- System can be set up to four kinds of PLC work mode, in accordance with the resistance (SLR), volume
(PDI), progressive (SRG), pulse type (PULES) centralized lubrication system requirements,Can be set according to the
requirements of machine lubrication.

Status indicator----------- The panel indicator can show the working state of the pump, the abnormal state and the stop state.

Controller protection-----The PLC controller has the function of protecting the function of the protection, and the function of the
automatic memory restoration after the abnormal power failure or malfunction.

Motor protection---------- The oil pump motor can be operated continuously, and the single-phase motor has a thermal protection device.

Exception output--------- With liquid level switch, pressure switch (optional), when the oil volume and pressure is insufficient, the abnormal
signal output and buzzer sound.

Overflow valve------------ With overflow valve, can protect the lubrication pump and pipeline due to high pressure and damage.

Unloading valve---------- The volume type system with pressure off device, can be used with quantitative lubricator.

Exhaust valve------------- An exhaust valve, quick oil under the condition of air in the pipe.

Cleaning switch----------- easy to release the dirty oil, easy to clean the oil tank

° BSHRcRHNA

Model number and explanations

o[ J[ - [JLJLIL]

WM R: F=SBIRE ASBRIAS

oil box material: F=Metal A=AS

ZH: EKEAFX Y ENF R
Blank: Without pressure switch Y:With Pressure switch
D=mEhR K=4zH28 0

D=Without microcomputer controller K=With microcomputer controller

HH 3 R FEH=MO0* ($p6)  8=Mg*1(d4)
Discharge bore Blank=M10*1(b6) 8=M8*1(d4)

RS A=EFE110V  ZE=E1E220V
Motor type  A=AC110V Blank=AC220V

AR 02=2F 03=3FH 04=4FH 06=6FH 10=10FH
Tank capacity  02=2L  03=3L  04=4L  06=6L  10=10L
HRRRS

Code of lubrication pump

09



® IMEERERS

Outside and installtion dimensions

T2,
0000

[
o T
o
v
0
S
T =
- oo0o
0000
o T
o
v
0
S
T —

280

< L1
000
[ 0000
™) 'I ]
0
[V
10|
S
i =
1
000
0000
n
0
[v+]
o
n
o
o
= &
L]
| X-X-]
0000
<
9

10

10

HimA
M10%1

™)
(e
215
195
10 fap::Ym|
M10%1
O,
™
L
@
255
235
10 203 , epm
| M10%1
O, *)
(8]
! ()
9
)
© ®
faepiz:]m|
M10%1
o
S
340
310
260 ) .
| Himn
5 M10%1
L
1N
[oo]
%

HTDO02

HTDO3

HTDO04

HTDO06

HTD10



’py
S
' 0000
® tHimO
Q M10%*1
o AL
Ql
®
HTDO06
[ 1 340
o % 310
0000 | e[|
@ M10%1
[=
(=)
™)
> HTD10
BLE
Wiring diagram
P PHEL G T User )
ZEREIDN REH
- o 220VAG Alarm output
° MHSREARSH Power nput
Product specifications
s = )
e HEERGH| BE FEHIE H & HEEN BRED NS R =B
Model Tank capacity | Voltage | Power | microcomputer D'SChaf? Reted pressure | Max pressure| Ppressure buzzer Weight
L V) w) controller capacity(ml/min) (MPa) (MPa) switch (KG)
HTDO02-D i—'
2 Without 2.2
HTD02-K ik R R K
WEEESR
HTDO3-D x S
Without g, 5B
3 e s 2.4
HTDO3-K 110 2.0 ?’“%U%é’]i”
With . v S8 gt
220V | 20W : or or Ak | = AR
HTDO04-D or or b 160 2.5 5.0 Can choose | 2 _ *
Without to assemble | PBEF
4 110V | 40W or o The model with 2.6
HTDO04-K With 450 3.5 controller is
X equipped with
HTDO06-D g a buzzer, and
6 Without the model can o
choose whether ° 6
HTDO06-K With or not to assemble
£ a buzzer.
HTD10-D Without
10 3.6/5.3
HTD10-K With Y,

HMO424 M10*1( 0 6) BIESERE  1350r/min

Discharge bore

Rated rotary speed

11



(4) B AR HIEF R (HTA)

Automatic gear type lubricating pump

BaSE AR RIHRERSHENER), BIBENNEDETENERREENERNEEE, ThERRANS, SRR ERE &E,
EBHFTRUEKX, BREBES, MENNERREMFXSENERT, SRHER. BhRENEE, EEEREIIFRANEENEE
HHE S —MFENE RS, XEHERHENGES, EBFERR/, SRIERER RS R E R, BEamR. TEHEFE
EMGERERUERRE, BilamR, ERTMBFERMEEARSRNERRS, HhnEs&EE=.

Automatic lubricating gear pump is driven by a single-phase asynchronous motor. Through motor running driven active gear to
rotate, the oil absorption cavity disengagement, gear teeth exit between the teeth, so that the sealing Volume increases, the formation
of a partial vacuum, the oil in the oil tank in the role of the external pressure, the oil suction pipe, oil absorbing chamber into the
teeth, with the rotation of the gear will be sucked into the oil belt between the teeth.To the other side into the pressure oil chamber,
then the gear into engagement, so that the sealing is gradually reduced, the lubrication oil is squeezed between the gears to
complete the lubrication oil process, through the sub block, metering and other connections Accessories resistance type lubrication
system, the oil block, quantitative oiling device accessories connected with the volume type lubrication system, to transport crude
oil sent to each lubricating point.

MERESH R

® performance and features

1. TIEER-— REANEEMMPLCT(EER, FAIEMR SLR) . FK (P01« iE#R (SRG) « kA= (PULES) EEBRAEMER, AR
BB ERFITIRE.

2. R&SHER—— BRERAOTEREBRR LIRS, BFERS, BLERES.

3. SRR IP— PLOIEHIBR B BIRIPThEE, ER BB RNMEER BaCIZRE TG,

4. SEHH—— RBERUFX EHFX FHER), HHBMEATEMNTEREESHEHEBMESTRR.

5. #miE———— R HERRE, ARPEERRERBTEIESMIRE.

6. ENTE———- EERARETRERERE, TSR EHBER.

7. i S ———- BEHSE, EEERNEESHNER THRE L.

Work mode--------------- System can be set up to four kinds of PLC work mode, in accordance with the resistance (SLR), volume
(PDI), progressive (SRG), pulse type (PULES) centralized lubrication system requirements,Can be set
according to the requirements of machine lubrication.

Status indicator---------- The panel indicator can show the working state of the pump, the abnormal state and the stop state.

Controller protection----The PLC controller has the function of protecting the function of the protection, and the function of the
automatic memory restoration after the abnormal power failure or malfunction.

Exception output--------- With liquid level switch, pressure switch (optional), when the oil volume and pressure is insufficient, the
abnormal signal output and buzzer sound.

Overflow valve------------ With overflow valve, can protect the lubrication pump and pipeline due to high pressure and damage.

Unloading valve---------- The volume type system with pressure off device, can be used with quantitative lubricator.

Exhaust valve------------- An exhaust valve, quick oil under the condition of air in the pipe.

o ASHRcKHA

Model number and explanations

HTA L -0

FH: ZBREIR 5 RER

Blank: Cover material is plastic %8:The cover material is aluminum alloy
=H: KEAFX Y:wmENF R

Blank: Without pressure switch Y:With Pressure switch

D=mEIR K=42HI88 0

D=Without microcomputer controller K=With microcomputer controller
e RS ZFE=M0*1(p6) 8=M8*1(d4)

Discharge bore Blank=M10*1($6) 8=M8*1 (¢ 4)

B AR E=$48220V EREHL A=AC110V D=AC12V E=AC24V
Motor type Blank=AC220V DC motor A=AC110V D=AC12V E=AC24V

AR 01=1F  02=27
Tank capacity 01=1L 02=2L
EERRmS

Code of lubrication pump

EESEIE 2900r/min
Rated rotary speed

12



® IMEERERST

Outside and installtion dimensions

5. Ul 145
3{ :Io — 130
1 J : 100
N T
Y T @ fupi:m}
g ! M10*1
Lk 3 | || = |
\@®
HTAO1
168
150
8 114.6
~N : : fup;::]m|
N~ v *
N ‘\ } ® M10%*1
oo |
Ip] | ! O
0 | | ™
| | -~
1 1
a f &)
HTAO02
'ﬂ?.@ 168
< 150
= g 114.6
N : : fupy:fm}
M~ *
= ‘\ ] M10%1
N o |
Ip] | ! O
| I
A | 2
| |
| |
| I
| |
L J
HTAO02
= > P
® HRBESREARSH
Product specifications
-
Eilf= HEAMGYH BE | ik | s . BEEN | ZRKED RS 25
Model Tank capacity | Voltage | Power | microcomputer D'S.Cha’?e . | Reted pressure | Max pressure | pressure buzzer
(L) V) (W) controller capacity(ml/min) (MPa) (MPa) switch
IR RAREL (5 S
HTAO01-D ; Wit 150 5% EEmEr,
220V 2.0 . FAHI 28 M08 S T3
HTAO1-K 110V . 200 50 AR 153
12v 60W With or tcan Choobsle The model with controller
} 3{_' 2.5 0 assemble is equipped with a
HTAoe P 2 | v wiiou 200 g e
or t 1 bl
HTA02-K Vith 320 EL;lzoer.o assemble a )
13



=. HEHEER

LUBRICATION PUMP

1 FEhimAsIEER HE)

Manual lubrication pump

HGR FRIAIER 2— Mt ENEER, FTAEEEEE T HAE, WANEE AR s, AR E R MR MEHN S FEE IR
Bz E M AEEIENER R, BERTIUR. giHl. RIHUMSE /B

HG type manual grease pump is a kind of plunger type lubricating pump, which can inject grease directly to the lubricating
points, or distribute the grease to each lubricating point in proportion or in quantity through damping distributor, volume type
quantitative oiler and progressive distributor. It is suitable for medium and small machines such as machine tools, spinning machines,

woodworking machines, etc n
® INEERERST !
Outside and installtion dimensions —
|
|
piipi::]m| @
RI/BN([ |
2 0
N D) ri/8
n ik
™~
9+ Y
70
90

320

g |

R1/8N
(&

urp::|m
o) 2-R1/8

I ¢ o
o BISHFIDREHH Y. 7

. 120
Model number and explanations

HG[ ][]

HG04 HG10

95
7

=H: FEER Y : BEIfT AR

Blank: No unloading valve Y:With unloading valve
AR 04=0.4F 10=1F

Tank capacity 04=0. 4L 10=1L

HERRS

Code of lubrication pump

® MRBSEEARSH

Product specifications

B HMESRE BAES H & ENFETAR BRR% e
( otz Tank (Slpacny Max(hh)l;as)sure car?a:gﬁ;](anrl /?nin) Unloading valve Applicable system FRESERE NG
L HG 0.4 0r1 15 1 AR PDI,SLR,PRG 000#~-0# J
Can choose to assemble

14



2 EEMAsIEER

Electric butter lubrication pump

(1) EBEhmASIEF R (HTH)

Electric butter lubrication pump

IR AR R 2B AN MR ETHESR R SRR, WhERANS, SRNEERHEAE, EREHEREX, &
RERAZ, MEANHEEEMFRSENERT, SUGHER. ThIEHNKE, MEESLENEMNEERHMEFE 5 —MBENEHIE,
REMSRHANGS, EREMERIED, SREREIERTHERERTE, Bl R, EREHSRFERMHARRRITERS, ¥
ik b KT o

This electric grease lubrication pump drives the driving gear of the gear pump body to rotate through the rotating operation
of the motor, the oil suction cavity is disengaged and meshed, the gear teeth exit from the teeth, so that the sealing volume
increases, forming a local vacuum. Under the action of the external atmospheric pressure, the grease in the oil tank enters the teeth
through the oil suction pipeline and the oil suction cavity, and the grease between the suction teeth is brought to the other side
along with the rotation of the gear When the gear enters into the pressure oil cavity, the gear will enter into the meshing, so
that the sealing will be gradually reduced, and the grease between the gears will be extruded to complete the pressure oil process.
A positive displacement lubrication system will be formed by connecting accessories such as oil blocks, quantitative oilers, etc.,
and the oil will be delivered to each lubrication point.

o SMESRERS

Outside and installtion dimensions

5 (i oo 220
& (©) X 200 .
%] “Ir |
L C—= ! T H#EO
“ E— e W10X1
o .
o o
) Q
o s [O}
=L
® R SHRIE R H A |
Model number and explanations
HTH [ ][ ]-[IL]L
HE: 2=200m|/min 2.5=250ml /min 5=500m|/min
Throughout: 2=200ml/min 2.5=250ml/min 5=500m| /min
=H: KEAFX YRR
Blank: Without pressure switch Y:With Pressure switch
==z K=1ZH 280
D=Without microcomputer controller K=With microcomputer controller
BHI2EAY:  ZE=$4H380V B=AC220V

Motor type Blank=AC380V  B=AC220V

AR 02=2F 03=3F 04=4F
Tank capacity 02=2L 03=3L 04=4L
HRRRS

Code of lubrication pump

EEE 1 :2Mpa
Rated pressure:2Mpa

15



(2) BB EhMAEEHAE R (HGL)

Electric butter lubrication pump

® SMEERERST

Outside and-installtion dimensions

=3
~ R
® )
0.3L=250 | [
0.8L=270
1.5L=320 | |
T L
| . AT .__:E‘
o| 3 ST~
o 2 81—0 N | s~ EIEE R
- M 9 #imO
=70
225
IERCENFar AR =290
M EE SR

Performance and features

FEHIPLCE SN BEHG-ACIEHIBRIEHIEE R TIEE . E1TRYE. [BIERETIE.
MAMORATREE, WhIZERORER. ESENDRRSE, BREOFRAERETE.
WHERER, BRERRHIEESD, RFARRGEIERS.
AL RIRE RS
RAER, EERH.
L& ECRS: VR, TPG. TZG.
A HhAE: 000#— 1 #5REAE.
The lubrication pump's working cycle, running time and intermittent time are controlled by the host PLC or external HG-AC controller.
The lubricating port is equipped with filter device to reduce impurities and air in the lubricating system during the lubricating process,
ensuring the lubrication system is more safe and reliable.
Equipped with pressure regulating valve, control lubrication pump working pressure and protect the security of the lubrication system
work.
Liquid level alarm system is optional.
Using oil pressure block, vacuum oil absorption.
Matching distributor: U, TPG, TZG.
Compound fat: 000#~1# lithium base fat.



® BB SREARSY

Product specifications

4 N\
ms [wmemcn| #E [ px [ R [ gwmsn [ wees [ agen | Em
Model Tank (ﬁ?pacny (V)g WS capacity(m?/min) ete(M El;s)assure n%ta)dzﬁe qswitch (ﬁg)
HGLO3 0.3 3.2

DC24 GIpridiy AR
HGLO8 0.8 AC220 25W 20 8 Can choose Can choose 3.5
AC380 to assemble to assemble
HGL15 1.5 3.8
J
o RI=SFrid RHE A
Model number and explanations
HGL[ ][ ]-
TH=TFIER W=3h 46N Th B
Blank=No other function W=Liquid level switch function
TH=TIEA H=ENETER T B

ShNE TS (HG-AC)
External Controller
SNENITFIZERA L R HIES, e, ATRNE, AEIRE, ETEASXEBRS, SNALa NI

External controller adopts single chip microcomputer control, simple structure, strong reliability, convenient disassembly, easy to cooperate
with various lubrication systems, to achieve automatic cycle control.

® SMEERERST

Outside and-installtion dimensions

64

Blank=No other function H=Function of load—off module

KR A=EiR24V  B=3Zi{i220V  C=3Zif380V
Motor type  A=DC24V B=AC220V C=AC380V

SRR 03=0.3# 08=0.8F 15=1.5%
Tank capacity 03=0. 3L 08=0. 8L 15=1. 5L
HERRS

Code of lubrication pump

90
S0
I~y >
==
RS ®
r A

192
177

17



® FRBSEEARSH

Product specifications

(ms | wraeE | mmeE | ome [ Temx [ memE | oewmsx | omEsx | ER
Model |"PU2V;/0“aQe output (V\)/oltage P(OVV\VIe>f (se‘g’gg d'/’;?eqtggﬁcy) Interz/nilin}lme control mode Alarm mode V\(%(g;;t
HG-DC4 DC24 DC24 e - 0.5
HG-AC2 AC220 AC220 <150W 1~999 1~9999 {Ejﬂﬁ\é HIRE R 05
JERUEiES 4k S h A
HG-AC8 AC380 AC380 s 08 )

(3) BB B3 AEEHAE R (HGA, HGB)

Electric butter lubrication pump

HGA, HEBRUE ZIHF ER LM SIE, ThEEST 2, MEENS, RIRAE=Adim0O, Si#@# D SEFHEAMEEREHRNER RS, ERT
FHEARERRSNESENMRZIEE, ZRNRRATBHRE, BEHL, MG, IZEATIENE, BaiE %, S, SRIMZIH
W&

HGA and HGB electric plunger pumps have reasonable structure, complete functions and high output pressure. They can
have three oil outlets at the same time. They form a progressive lubrication system with progressive distributors and other
related accessories. They are suitable for lubrication of all kinds of mechanical equipment with high lubrication requirements.
This series of pumps are sealed with dust—proof and rainproof functions and are widely used in engineering machinery, automatic
production lines, spinning machines, Packaging machinery and other mechanical equipment.

oA SHric K H A

Model number and explanations

HGA
HGB[]E] £5Fy — I3 AT
ZFH=Fikl W= 48N ThEE

Blank=No other function W=Liquid level switch function
TH=TFiEE K=1=Hlga X

Blank=No other function K=With microcomputer controller
HimO%KE  1=1DNEHmO 2=240dE0 =3 kO

Number of oil outlets 1=1 oil outlet 2=2 oil outlets 3=3 oil outlets

2R i) A=EI24V  B=%220V  C=3Z380V D=EL12V E=3Z%110V
Motor type  A=DC24V B=AC220V C=AC380V  D=DC12V  E=AC110V

HERR 02=2F  04=4F 08=8F
Tank capacity 02=2L 04=4L  08=8L
HRRRS

Code of lubrication pump

® MRBS KRS

Product specifications

2 N\
we | CEEEROD Ak hx O # & BATES | pn@ miny | =i
Model Tank capacity Voltage P(owgr Number of Discharge Reted pressure | controller/Liquid Welght

(L) V) w oil outlets capacity(mi/min) (MPa) level switch (KG)
HGAO02 DC12 .
2 DC24 44
HGAO04 NSNS oW 5.5 4.8
4 AC220 - 25 AT LA -
1~3 Can choose
HGBO02 2 to assemble 10.6
AC110 .
HGBO4 4 AC220 S0V, 11
AC380
HGBO08 8 12
- J

3E R OESIM 2x1. 5Rp1 /41 4E

18



Outside and-installtion dimensions

® SIMEERERST

HGBZY

HGAKY

4
D m <
W [ S92 XN B

—
186
| 162
Va
(%) | &)
=t
O l ®
MAX_350

GeT+71

2160

0Si="1e
0eS="¥

6L1="12
LL2=TT¥

g'19€E="112
STyy="1%

19



M. ZBCas

DISTRIBUTOP

1 R ECER

Resist-type proportion distributor

() LBt 24
Resist-type proportion distributor
® IMEERERST

Outside and installtion dimensions

DPB DPC
24
< > 28
10 8 < > R DPC DPB h
Model
12 10
A 1 2 3 4 5
Standard
e 1 2 4 8 16
Flow rate
#ELOR . .
w1 (04) L4 '\ R1/8 M8x1<¢4)/ % N M8x1(04) Connector diameter | IN:M8X1 OUT:M8X1|  IN:M8X1 OUT:R1/8
$=10 $=10 ERAEH
N—— —— Pressure used 0.15~2Mpa
P o] Y Cl 3
Flow direction - Flow direction - \\/isclzﬁfgﬂ;ﬁ’%sed 20~50cst (#5m) )
TGA TGB
24
28 - »
< > < > 4 2% TGA TGB
12 10 10 8
g 1 2 3 4 5
Standard
R 1 2 4 8 16
Flow rate
EkOi . .
M8x1 (p4) / % N\ _MBx1 (04 Mex1(94) / x \ R1/8 Connector diameter | 'N:M8X1 OUT:M8X1 IN:M8X1 OUT:R1/8
- - FERED
§=10 §=10 Pressure used 0.15~10Mpa
REhFE mEnFE 15 P A - 3 -
Flow direction Flow direction _ \Viscosity of ol used 20~500cst jHifiEGrease 00#~000# )
RSN Y . =]
(2) IR ATEEE ) 43 B 28
Resist-type proportion distributor o RIS LIHARESH
et Product specifications
® IMNEESRERT = T e e ~
. . . . . = SO B =
Outside and installtion dimensions Modal _|Number of ischarge | Maln tube port/Branch whe por| E
5 M8x1 (¢ 4) TK2-108 2 47 37
B
‘ L Branch tube TK3-108 3 62 52
W0x1 (6 6) M0 ij 2 TK4-108 4 77 67
Main tube ain tube TK5-108 5 92 82
28 M10x1 M8x1
TK6-108 6 (¢6) (o4) 107 97
A 4
Kf TK7-108 7 122 112
B *é
> TK8-108 8 137 127
3 MEESXEW AN IR, BISEEM “8” , 0: TK2-88 TK9-108 9 152 142
MEE—uRAMOXE, BISFEEM “10” , aA: TK2-810
TK10-108 10 167 157
Note:If main tubes are all M8x1,”-8”is added to the code,e.g.TK2-8-8; \_

If one end of the main tube is M10x1,“-10"is added to the code,

E1H g i
e.gTK2-8-10. ERFEIHAMI0X1ET Above chart supposes main tubes are all M10x1

20



o B Stric K H LA

Model number and explanations

-0 s

L ZHE: FHEEGHERE S=EHEIRE—ImN0%1 —imMe*1

Blank:Same as the main tube port S=In:M10*1 out:M8%*1
ZEOBREY 8=M8*1 (p4)  10=M10*1 (¢ 6)
Branch tube port  8=M8*1(¢4) 10=M10*1 (¢ 6)
T R 8=M8*1 (9 4)  10=M10%*1 (¢ 6)
Main tube port 8=M8*1(b4)  10=M10*1 (b 6)
Him % (2-10) 2=21m0
Number of outlet (2-10) 2=Two outlet
BE  FH. @BgEOxX cCHEER H=5R#4
Model Blank: Screw type C=Intubation type H=Copper material
FaRRS
Model

Q) ZRA SRR

Volume type distributor
1) TPARYE & B s

TPA volume type distributor

TPAREENERRHERNER MR, TETRBARGMERER, REEEFREH, EATIEEAEL 7-2. sMpatI FIRXE
IR RSS, ZTREEETRREENTAENEEENHEASIESR, HWhDBH1-5ORE, SN MONTHERERETERN
FEERE, ZTRZEA TR RN RN R &S

TPA type quantitative distributor is unloading type quantitative oiling device, the main working principle for the system when
the oil pressure relief system, oiling, suitable for working pressure in the lubrication system of 1.7-2.5Mpa volumetric cycle, the product
can make lubricating oil according to the specifications of the selected quantitative oil delivered to each lubricating point, out of port
1-5 optional ports, each port of the fuel oil within the prescribed scope of arbitrary choice, the products are widely used in small and
medium-sized machinery equipment supply of precision.

L4 9|‘ﬁ25§%§ﬁ7j— N-M8X1
Outside and installtion dimensions —m_ﬂ H_m ﬂ_m m_l_l
2-MIOX1 i 7t i 1 i i i It i ]
\\i }jﬁ @@l m
” | xxJ X EKJ xxJ E }a/ 465
NY - i | | | ] T ]
rL e |
" L Lﬁl )L )L ) C 1 lI ‘l|_ I
] | I | | l—-J
16 16 11
=] N N L1
® NIRBESRIFARSH 5
Product specifications L
s = D
o TPA/TPG
HimO%
Number of outlets 2 3 4 >
L1 40 56 72 88
L 54 70 86 102

ERHEE (ml /cyc)

Commaon discharge camacity 003 006 01 0716 02 03 04 05

YEBRNRIEE 77 (Mpa)

N . ~ N |=3 ~
Action guarantee pressure i Oil 0.8~1.4Mpa  JHiflEGrease 2~5Mpa

fE Rl HAL BE " S S
_ Recommended viscosity 20~500cst, i JIF Grease 00#.000# )

21




° BSHMCRHA

Model number and explanations

realJ-UOLIL ©

L #aAX =H: BauEnk C=IRER
Interface method Blank: thread interface type C=intubation
HEMEKS
Specification code
RO % (2-5) 2=20m0O 3=3HimO 4=4t3m0 5=5 M0
Number of outlet(2-5)2=Two outlet 3=Three outlet 4=Four outlet 5=Five outlet
RS TPA-EANECES TPG=7H1BE 7Y EC =%
Model TPA=0il distributors TPG=Grease distributors
( HERERS 03 06 10 16 20 30 40 50 0 W
Specification code
L HFE (ml/cyo) 0.03 0.06 0.1 0.16 0.2 0.3 0.4 0.5 O(Eu%)ﬁziaiwug)J
Discharge capacity

0 HERRAR SHBOHE—HN, RA-MHERT
Bl: TPA5-103RRTPOBISCOHELEE1. 2. 3. 4. SHHMOHESIA0. 1ZF/0R; TPA5-0306102030F%/RTPARIS 43 ERE81. 2. 3. 4, 5HHOIHEESHIA0.03,
0.06, 0.1, 0.2, 0.3ZFH/K;

2, Hep7, 8, 9. 1004 EEEA5O052, 3\ 4, 5A4EE, 6O A3O53O/EE.

Note: the displacement means; when the output of the oil displacement is the same, only a displacement said;Example:TPA5-10 indicates that it is an type distributor with five
outlets and all outlets have the same capacity of 0.1ml/time.

2) TZ20BiEESBCaR
TZO volume type distributor

TZOREENEBRRBERERT MR, TETRRBARGMER M, REEERGEH, ERATIEENE. 7-2. SMpaf FRX A H
HRRGH, ZTRERARMREERNTHEMREENMRARSRER, HiBOA2-6ATE, S MmO HETENEEERER
®EE, ZFERIZNAT RS RN PN RENRIRE S

TPO type quantitative distributor is unloading type quantitative oiling device, the main working principle for the system when
the oil pressure relief system, oiling, suitable for working pressure in the lubrication system of 1.7-2.5Mpa volumetric cycle, the product
can make lubricating oil according to the specifications of the selected quantitative oil delivered to each lubricating point, out of port
1-5 optional ports, each port of the fuel oil within the prescribed scope of arbitrary choice, the products are widely used in small and
medium-sized machinery equipment supply of precision.

® IMEERERST

Outside and installtion dimensions

17 17 17 17 17 N-M8X1

EE__

§A -

o Q.
8 s
R &
< '
- C——
p-M10X1/|. 24 L1 22
L 14.3

22



® MRBSEEARSH

Product specifications

g )
RS
Model TZO/TZG
dmO% 2 3 4 5 6
Number of outlets
L1 0 17 34 51 68
L 48 65 82 99 116
EAHE (ml/cyc)
Common discharge capacity 0.03 006 01 016 02 03 04 0.5
YERNRIEE 7 (Mpa) SR N o G -
Action guarantee pressure iy Oil 0.8 ~1.4Mpa i i Grease 2~5Mpa
156 P e - S
9 Recommenlded vi:;cosity 20~500cst, 1 Jli Grease 00#.000# )

o B Stric K H LA

Model number and explanations

mo-00000¢

L #OAR =H: BygEOR C=HRER
Interface method Blank: thread interface type C=intubation
HEMEKS
Specification code
tH 5 O # (2-5) 2220 3=3HhO 4=4H5h0 5=54H 0
Number of outlet(2-5)2=Two outlet 3=Three outlet 4=Four outlet 5=Five outlet
S T70-#h S AR T26=;hAs S ECaR

Model TPO=0il distributors TPG=Grease distributors

( HBMERS 03 06 10 16 20 30 40 50 0

Specification code

L HER (ml /eye) 0.03 0.06 0.1 0.16 0.2 0.3 0.4 0.5 0 J

Discharge capacity (3% Plug)

3) BERBEXEE R
Single supported booster Qil distributors

° SSRERT

Outside and installtion dimensions

\ o

JF

4
\ 4

o ASHRC R H A

Model number and explanations

23



™-[]

‘ MO mE

Discharge capacity of the outlet

025=0. 025ml/cyc 06=0. 06ml/cyc 10=0. 1ml/cyc
20=0. 2ml /cyc 30=0. 3ml/cyc 40=0. 4ml/cyc
8BS TD=8XEER A

Mode | TD=Single supported booster 0il distributors

rorl =000

L HEHOsg ZZE=M10*1 (¢ 6) 4=M8*1(¢p4) N=NPT1/8 R=R1/8
Discharge bore Blank=M10*1 (¢ 6) 4=M8*1(¢p4) N=NPT1/8 R=R1/8

HEHRRS

Specification code

Him O3 (2-10) 2=2dm0 3=3¢;mA 4=4H0 5=54im 0
Number of outlet(2-10)2=Two outlet 3=Three outlet 4=Four outlet 5=Five outlet

BS  TOT=RIBENSEREF 2 MIRE R A A

® B SEEARSY

Product specifications

Ve HeE )
me i
Discharge
Model capacity(L/min) . > A -
TD-025 0.025
TD-06 0.06 52
NPT1/8
or
D-10 0.1 12 Mext o
TD-20 0.2 Mo
or
TD-30 0.3 62 k178
TD-40 0.4
L )

FEHMRE R IEDIRLR EF
Need other flow or Joint spec can be customized
(4) ERRVELSIH R D EC R

Integrated U-shaped progressive distributor

ERVRE#HASERR—ME—EERRRRRAEINF, FOREMELEEEEMEREREEEER, SMLEEERIRT AR
KEpEM=ERNRE DN FEREDREEEMNNE, EREERINEEERITHRT RS AES SEFHTHE—EEINIELE, I8
MFHEHNLHO, FREEE—Hh0, MEMEERTE, SUSBESEE. EATEMOARNEK, TENM. SE0E. g
W R AESEH R REN FHE .

Integrated progressive distributor is a kind of distributor that delivers fixed volume lubricant in each trunkpiston chamber of a
valve to lubrication points in cartain sequences. Each working trunkpiston set deliverts volume lubricant to lubrication point by using
principle of progressive action producing hydraulic pressure,following the cycling action of the previous trunkpiston set.To make this
distributor discharge oil in constant capacity, we must supply this u-shaped distributor with lubricant with certain pressure,otherwise
working trunkpiston set will not sequently delivery lubricant to lubrion point and realize lubrication in progressive way. Similarly,once
supplied pressured lubricant stops flowing, the working trunkpiston set of the distributor will also stop.Only when lubricant with pressure
flows again in the valve, each working trunkpiston set in the distributor will revover lubrication cycle at the same point.

e RISFrid RE A
Model number and explanations
U_DD I N g — it e
EE: TE=-TWHEH R=HIERIT M=HERAX
Allocation: Blank=Without any accessories R=With indicator M=With Cycle switch
HHOKE

Number of outlets

24



® SMEERERST

Outside and installtion dimensions

® MEESEEARSYH

Product specifications

U-4R 4
U-6R 6
U-8R 8
U-10R 10 200cyc/min
U-4M 4 (with indicator)
U-6M 6
U-8M 8
U-10M 10
\_ U-12M 12 )

MHREERSKE: ¢4mmi (Length) 0. 5-2. 5m,

BHOG1/4

BEMOG1/4 HMON-G1/8

HMON-G1/8

[

53

66

45
59

| ]S
@D |
A —\‘I_

g
@D |

Vo
[ ]
)
)

(5) @S/QM/QAZY i X 1 B 2%
Chip type progressive distributor

A 1]

N

45

59

HIMON-G1/8

#2.8

& 6mmi& (Length) 1. 2-3. 5m

#MOG1/4
=

4]
| — )
38
S1

26,5

St

SEEREHERSERE 2—FB—k" /" —k” BER” MESK TERHMA, BE—ES R FRH3-16 N 28R, EBTH
BEE—-LHmO, MPMEESTE EERFSES. BTSN RN RMBRMIEERNAR S48 REMNFHEE.
S-type progressive distributor is composed of one "first piece" one "tail piece" and three to eight working pieces. Generally,

a group of distributors can provide lubrication for 3-16 lubrication points, please note that it is not allowed tolt can block any oil
outlet and affect its normal operation, even damage the distributor. It is suitable for all kinds of small machine tools and plastic

mechanical equipment or the sub distributor of large single line lubrication system.

25



® IMEERERST

Outside and installtion dimensions

QsE  QME!
#MWO Rpl/8
QLD | s
1010
0 @ f,/ R
g©0+©B
© 10
ey S
19
62
83
MO M12x1.5
l@ Hi®O M10x1

4

—
o~

gy

i

26

27

g‘ 19
<«

@

=
R |@
‘\| _

@H

3
¥
]

)
i
UJ

QAZY

® FRBSREARSH

Product specifications

QSZHY
= 0
ﬁﬁﬁ? A (mm) B (mm) m‘.ﬁ.}iﬁ
workpieces pa
3 59.5 79.6
4 74.6 94.4
5 89.5 109.1 16
6 104.6 123.9
7 119.6 138.7
8 134.7 153.5
~ J
QmAEY
((IHR® | pw | B | BEES
Number of workpieces Mpa
3 90 143
4 110.5 163
5 131 183
6 151.5 203 25
7 172 223
8 192.5 244
9 213 264
10 2335 284
~ Y,




30

60 0AZ
I (wmn® | Lom | HE | ABESN 580e)
- ’ I” I 1 o o 2_ Number of diacharge ml/cyc Mpa L
D (_ﬂml_lllD 3 . 6 60 0.86
By ot ] 8 75 115
5 6
EHHE[* - —t— — 10 90 0.25 25 1.44
20
< %} 14 120 2.02
50 [—'L=_ o 5.5 16 135 231 )

° ASirckHA

Model number and explanations

om0

B E: ZA=-TwEH R=HERTF MHEIRFFX

Allocation: Blank=Without any accessories R=With indicator M=With Cycle switch

HEEHIER S
Specification code
s

Mode|

-
Allocation: Blank=Without any accessories R=With indicator M=With Cycle switch
HHOKE

Number of outlets

QA
LU BE: BE-FHEME RSERTF WHERTFX

RS
Mode |
HEMEKS 05T | 055 | 10T | 10S 15T 155 | 20T | 20S | 25T | 25S | 30T | 30S | 35T | 35S
Specification code
L & (ml /cyc) 0.08 | 016 | 016 | 032 | 024 | 048 | 032 | 064 | 04 | 0.8 | 0.48 | 0.96 | 056 1.12J
Discharge capacity

TREBRHHOKER2, SREEBREMOKERN.

T represents the number of outlets per piece is 2, s represents the number of outlets per piece is 1

i B

Enclosure

1 Bl iEs
Oil filter

FeRURGEASHEIRMAE, HTBBERI0 251, 1250=#, ERBEHHRKN, BHEE, REARFHL, ERTEARRESDR

FG sintered type high precision oil filters are available in three kinds of percision :10u. 25u. 125p,featuring low pressure loss,
compact structure and ease of installation ,applicable or continuous lubrication systems.

27



® IMEERERST

Outside and installtion dimensions

Fe-¢ FG-A  wwn

T NPT1/8
#Hma
A NPT1/8

55 N
i
r ~
- 29.5

50

\D
® NS REAREH 8 0
Product specifications 4/ ® =
p - N |
ne 2 BAESN | SEEE | gihneg -
Model D|§charfe Max pressure (1) Qil inlet and outlet T
capacity(ml/cyc) (MPa) thread TN\ ]
FG-C 1 150 Rc1/4
57
FG-A0525 0.5 25
M8x1
FG-A7125 7 35 125
FG-B0310 0.3 10
FG-B1625 1.6 25 Rc1/8
FG-B10125 10 125
\§ J
2 EhEk
Pressure gauge
® HEBSREAREH ® IMNEERERST
Product specifications Outside and installtion dimensions
(@5, | zEpn | ZEEm, ] zese | mR )
Model Itrj\isrteac tlg(t:r?n Al Joint spec \N(?(Ié')’lt
FB-A25 0-2.5
EB-A4 &= 0-4
NPT1/8 0.06
FB-A6 0-6
FB-B6 ) 0-6
J

FB-A %% FB-B k%

28



3 HIYRUFHhinmie

Model HJY manual refueling device

BB AHIRHBRIAABEL AT O TR

HJYBYFZh 0 it B — AN TAEIE8 I A hBE I A 2] % 2Oh AR RSP TR, et ARt

PR =|
=Rk

NiHBE, B ihBEIS R, =

HJY type manual oil gun is a kind of tool for manually transporting lubricating grease from the grease barrel to the oil storage

barrel of various grease pumps. It can effectively avoid air mixing with grease and grease pollution. It is an essential tool for flushing
grease on the site of various grease pumps

® MRESEEARSH

Product specifications

] JRAE HBEE R PSS E =8
( Vodd | ATRITEL ool ERERAL | FERCH g W
(m|/cyc) (Mpa) Connecting thread (KG)
k HIY 50 08 | HUEEL | 0oo#-0# 09 J
O
D
~N|
=
s
a s et
N |
|
4 INBUGER IR
Micro gear pump
® SINEERERT
Outside and installtion dimensions
$5 <
32
®5 ¥
/ 'lQ
1oI 7§ -
A
M5x1

L————+'

Suad

$10X1200

32
FP—Adotk FP—Bototok FP—Cototok
® MBESRIARSHY
Product specifications
g i : )
s %ﬁgﬁle HUEES BEES IR R%F-_‘J EE
Model capacity(m?lmin) Rete(c'ivI 'gg)essure Max( ’ﬁgeas)sure Speed range di?é?:tlligg (K?s)
FP-A110 110 5 0.08
- 2.5 - ER¥
FP-A160 160 5 1300~2000 Positie 0.09
inversion
FP-B160 160 4 0.11
= 35 8 500~2000 0.19
L FP-C300 300 )

29



k= = =1=

S Mixas
Spraying lubricating system

MERRAETAFNEE, FRALEBENEZSRAEL BHETIR. k. THF RS BEIIBRAAYR, HERBEEINEE.
H—E RO TIEER, #AFRNRRRESYER. AEEAENEGEAEER.

The principle of vacuum self breathing is adopted by atomizer, which makes the liquid atomized through the nozzle and air and
sprays to the cutter. The lubrication point such as bearing, workpiece and so on, has the effect of lubrication and cooling, and has

the function of removing the chip. It further reduces the tool wear, improves the quality and efficiency of the product. It can be collocation
with different parts.

YWQAZ YWQB%Y
e Rl=SFrid R HE AR
Model number and explanations
YWQA D_
YWQB . . _ _ _
R OS24 8=M12%1 (b 8) 6=M10¥1(d6) 4=M8*1(d4)
Air inlet thread 8=M12*%1(¢$8) 6=M10*1(p6) 4=M8*1(p4)
brigicmp:eany 6=M10*1($p6) 4=M8*1 (¢ 4)
0il inlet thread 6=M10¥1($6) 4=M8*1(¢4)
&= 25 H =2300mm KEREH
Tube length  Blank=300mm Length can be customized
HERRS
Code of Spraying lubricating system
® NS REAEH
Product specifications
~
BS £ RiliAAR BARE RVRE SHEN =8
Model Type of liquid Maximum flow Minimum flow gas m‘essure Weight
used (cc/min) (cc/min) (Mpa) (Kg)
YWQA 7K, 7E#E Water, alcohol 30 0.3 0.2
or 0.5
105 =R 55
YwaQs No.10 .Iﬁghmjgeetﬁ;gndle oil 25 iz 015 Y,

30



6 wALFF &
Oil level sensor

® SIMEERERST

Outside and installtion dimensions

138

%

25

FW- Aok

7 RO
Oil filler
® INEERERT

Outside and installtion dimensions

M10x1
) NPT1/8
4
45
28
A

_

F-B¥#k

® HRESEEARSY

Product specifications

ars mEEE HE | sl EE )
Model Temperature | material quality Joint spec We'ght
rating (kG)
A** | 10~+85°C 0.03
FW-A * M10x1
R or
FW-Ax** -10~+85°C PP 0.02
NPTI/8
FW-A*+* | -10~+85°C or 0.02
= Gl1/8
N o | ANEERSUS304
\FW-B*** -30~+125°C Stainless steel 0.06

k) 72 R EE RS #Product length as code

® MRBESEEASH

Product specifications

C
A
b ( m= L c D d EE )
}—‘4— L Model (mm) (mm) (mm) (mm) (?(')
| e
FK-Ax** 84 42 30 26 0.015
FK-B*** 106 49 37 32 0.025
‘ v \§ J
d d sk D FEELKCEE{E RS ***Product length as code
FK-A%otk FK-Botk
8 B RFERACL S
Lubrication system connecting fittings
® NS REARSH
Product specifications
= o7.2 A HRO%
—_— = A
1 d2 Number of d1 d2
iEH -— N JF-2-8 , M8x1 M8x1 28 12
B
Joi;slts |<_A_.}L JF-2-10 M10x1 M10x1 31 12
_ A= fucpy:: (W a1 a2 A B
= Model Numberor | D m | (m)
o JF-3-8 M8x1 M8x1 M8x1 28 20
=N
/)
. R JF-3-10 3 M10x1 | M10x1 | M10x1 35 25
T JF-3-810 M8x1 | M10x1 | M10x1 35 25
JF-3-1810R R1/8 | Mi0xl | M10x1 35 25

31



JF-4-8 4 36 48
JF-5-8 5 52 64
JF-6-8 6 68 80
JF-7-8 7 M8x1 M8x1 M8x1 84 96
JF-8-8 8 100 112
JF-9-8 9 116 128
JF-10-8 10 132 144
JF-12-8 12 164 176
JF-4-10 4 38 53
JF-5-10 5 54 69
JF-6-10 6 70 85
JF-7-10 7 86 101
M10x1 | M10x1 | M10x1
JF-8-10 8 102 117
JF-9-10 9 118 133
JF-10-10 10 134 149
’ JF-12-10 12 166 178
JF-4-810 4 36 48
| ©=@==0 ]I« e ¥ S
JF-6-810 6 68 80
JF-7-810 7 84 96
JF-8-810 8 M&x1 | MIOx1 | M10x1 100 112
JF-9-810 9 116 128
JF-10-810 10 132 144
JF-12-810 12 164 176
JF-4-8510 4 36 48
JF-5-8510 5 52 64
JF-6-8510 6 68 80
JF-7-8510 7 84 96
JF-8-8S10 8 M8x1 M8x1 M10x1 100 112
JF-9-8510 9 116 128
JF-10-8510 10 132 144
JF-12-8510 12 164 176
o B BE] o [ e | w0 |
504———-—] o IBS-4 oy 6 4.1 4
v
{ - JBS-6 6 8 6.1 4.5
Lt

32




IA-4 b4 M8x1 8 12
JA-6 ®6 M10x1 11 13.5
JA-8 8 M12x1 13 16
JA-10 $10 M16x1.5 17 20
JA-12 12 M18x1.5 19 16

1B-4 o4 6 4.1 4.75
1B-6 $6 3 6.1 6
JB-8 8 10 8.1 58
JB-10 ®10 12 10.1 7
JB-12 ®12 14 12.2 9

JC-4X0.75 $4x0.75 4 2.5 1.5 10.5
IC-4 d4ax1 4 2 1 10.5
JC-6 $6x1 5.5 4 3 15
JC-8 $8x1 8 6 5 155
JC-10 $10x1 10 7.5 6.5 15

JD-4 4 M8x1 4.2 10 12
D-6 6 M10x1 6.1 12 13
ID-8 ¢8 M12x1 8.1 14 13

JPY-410

b4

M8x1

M10x1

25

12

JPY-608

$6

M10x1

M8x1

25

12

IJNC-618NF M10x1 NPTF1/8 19 19
JNC-618N M10x1 NPT1/8 22 30
INC-612 M10x1 M12x1 22 22
JNC-1218N M12x1 NPT1/8 30 22




IN-408 M8x1 18 18

IN-410 M10x1 19 19

IN-406F M6x0.75 20 21

s IN-406 M8x1 M6 18 18

) > IN-414R R1/4 23 28

b IN-418R R1/8 19 19

_____l_ JN-418N NPT1/8 19 19

—
R/ —— IN-438N NPT3/8 25 30
A/ — ~ IN-608 M8x1 21 20

JN-610 M10x1 21 20
IN-614R M10x1 R1/4 23 28
IN-618R R1/8 21 21
JN-618N NPT1/8 21 20
JN-638N NPT3/8 25 30
IN-818R R1/8 29 29
M12x1
IN-814R R1/4 28 32
Comn bEe] o | o | wem | s |
JP-306 3 M6x1 M6x1 20 8
JP-406 o4 M6x1 18 10
JP-406F b4 M6x0.75 18 10
S D JP-408 b4 M8x1 18 10
d /o /_ JP-410 o4 M8x1 M10x1 18 11
D I T JP-418N b4 NPT1/8 18 11
. JP-418R b4 R1/8 18 11
|<—|_>‘ JP-608 6 M8x1 20 12
JP-610 6 M10x1 20 12
JP-618N 6 NPT1/8 20 12
M10x1
JP-618R 6 R1/8 20 12
IP-614R 6 R1/4 20 14
JP-616 6 M16x1.5 30 17
JP-810 8 M12x1 M10x1 25 16
JP-1038R 10 M16x1.5 R3/8 32 19

34



D d 2=
N
a 45° / a Model D d L (mm), S (mm)
(0] o
® 45/'
5 St —
R & [ JNA-1/8NF NPTF1/8 NPTF1/8 21 13
o
g = S L
~
S BS MR
- E I‘—" Model g d L (rm) S (mm) Material
2 1 JND-1218R M12x1 R1/8 25 26 0
) % Copper
® i / - H . JND-1618R | M16x1.5 R1/8 28 28 Coﬁsjper
(0]
S 3 D 4/422 IND-3827NF | 3/8-18NPSF | 3/8-27NPSF 35 29 o
~t
¥
AR d JND-3818NF | 3/8-18NPSF | 3/8-18NPSF 35 29 Wk
Be
Model D d L(mm) S
v JNB-406 M8x1 Mé6x1 20 14x14
el
> D d
5 & e JNB-408 M8x1 M8x1 20 12x12
o
=h
® B 4 IJNB-418R M8x1 R1/8 20 12x12
fn| v Il
1)
- X X
2 =z JNB-418N M8x1 NPT1/8 20 14x14
—_— A
oo
S L JNB-418RS M8x1 R1/8 20.6 14x14
%
JNB-618R M10x1 R1/8 20 14x14
INB-614R M10x1 R1/4 28 18x18
JNB-410 M8x1 M10x1 20 14x14
S
el D d L (mm) S (mm)
o Js-8 M8x1 25 10
—t
&,
g— S D JS-8R1/8 M8x1 R1/8 25 10
(]
S b d 15-810 M10x1 25 10
5 -\
o ¥ . :
N T 15-10 M10x1 25 10
@ ’ T I [ I M10x1
S 18 = - JS-10R1/8 R1/8 25 10
& ¥ |
(T |<—> JS-R1/8 R1/8 25 10
2 - R1/8
é JS-R1/8R1/2 R1/2 35 22
[¢)
) JS-N1/8 NPT1/8 NPT1/8 25 10
=l
—t
JS-R1/4R1/8 R1/8 27 14
R1/4
JS-R1/410 M10x1 27 14
5 S BS
2 ?lg § . il D d L (mm)  (mm)
=
S SN v JQ-4 M8x1 M8x1 28 12
= R Y
T ]
: e JQ-6 M10x1 M10x1 28 12
¥ —
5 % L JQ-410 M8x1 M10x1 28 12

35



JR-8

M8x1

23

JR-10

M10x1

25

JE-8 M8x1 16
JE-10 M10x1 18 10
JE-12 M12x1 20 12
JES-8 M8x1 11 11
JES-1/8 R1/8 14 14
JES-1/8A R1/8 13 10
JES-10 M10x1 11 14

3JN-8 M8x1 M8x1 28
3JN-810 M8x1 M10x1 30
12
3JN-10 M10x1 M10x1 30
3JN-108 M10x1 M8x1 28
3JN-R1/88 R1/8 M8x1 28

3JM-8 M8x1 M8x1 28
3JM-810 M8x1 M10x1 30
3JM-10 M10x1 M10x1 30
3JM-108 M10x1 M8x1 28
3JM-R1/88 R1/8 M8x1 28

12

JT-8 12 8
JT-10 14 10 1.5
JT-12 15 12
JT-12S 16 12
1122 32 22.5 2

JZ-1104

J7-1204

JZ-1106

JZ-1206

10

20 104
24.5 294
22.5 106

29 246




JO-18N20 NPT1/8 19 20 58 13
JO-820 M8x1 19 20 58 13
J0-1022 M10x1 28 22 65 17
JO-18N20L | NPT1/8 40 20 78 13
JO-18N22 NPT1/8 28 22 65 17

XZ-4R1/8 R1/8
X7-410 M8x1 M10x1 23 18
XZ-408 M8x1
XZ-610 M10x1
18
XZ-6R1/8 M10x1 R1/8 28
XZ-6R1/4 R1/4 22

o

JPB-6R1/8 R1/8 30 11 12
JPB-610 6 M10x1 30 11 12
S S1
— JPB-6R1/8L R1/8 38 14 14
L I JPB-6R1/4 R1/4 42 14 14
= JPB-8R1/8 R1/8 40 13 17
L JPB-8R1/4 8 R1/4 42 14 17
JPB-8R3/8 R3/8 43 17 17
JPB-10R1/4 R1/4 42 14 21
$10
JPB-10R3/8 R3/8 48 17 21
L 26 11
. R1/8 12
S s1 JPZ-6R1/8 /
7 I JPZ-610 b6 M10x1 26 11 12
- I - JPZ-6R1/8L R1/8 28 13 14
JPZ-8R1/8 R1/8 28 13 14
8
JPZ-8R1/4 R1/4 38 14 17
JPZ-10R1/4 R1/4 42 17 21
d 10
JPZ-10R3/8 R3/8 42 17 21




JFS4-05 M5 21 9
JFS4-06 M6x1 24 ilil
JFS4-08 b4 M8x1 19 10
S JFS4-10 M10x1 19 12
7 T JFS4-R1/8 R1/8 19 10
d . O pal
l_> Do| | Jrs6-06 M6x1 24 13
L1 JFS6-08 - M8x1 24 12
L
JFS6-10 M10x1 24 12
JFS6-R1/8 R1/8 24 12
JFS8-10 M10x1 29 14
JFS8-R1/4 R1/4 27 14
JFS4-05 M5 17 19
JFS4-06 M6x1 15 20
L3
}———‘ JFS4-08 b4 M8x1 18 19
e __ V| JFS4-10 M10x1 19 19
— — Do
| W I | JFS4-R1/8 R1/8 19 19
L2 | I
JFS6-06 M6x1 18 21.5
L1
JFS6-08 M8x1 19 235
d 6
JFS6-10 M10x1 20 235
JFS6-R1/8 R1/8 20 235
JFS8-10 M10x1 21 26
JFS8-R1/4 R1/4 23 26

S
v
L

— 1=

Fi A
shell part

XZ-4R1/8 30 10
XZ-410 o4 18 10 $8.6x4.2
WEEE
XZ-408 30 10
XZ-610 60 10
$6 $11.6x5
XZ-6R1/8 58 8 AEE
XZ-6R1/4 8 32 12

38




S - T
. B XT-610 28 12(1i2XZ-610)
L XT-6R1/8 26 12(fCXZ-6R1/8)
= 1
s | kR | ww [ s [ s |
IR
| | ] XZT-610 63 0 .
[ _ [ B J
! 1 ! XZT-6R1/8 59 8 12

MR RS ST N “T” 1. JH-106T
Material:“T”is added to the code if it is
chrome(zinc)plate iron,e.g.JH-106T

R=0° : F M
Straight grease nozzle
Q=45° :45° B EIME
Bent grease nozzle
R=90° :90° HE Y

Bent grease nozzle

JH-106 M6x1 0° 13 8
JH-108 M8x1 0° 15 10
JH-118 R1/8 0° 17 11
JH-110 M10x1 0° 17 11
JH-208 M8x1 45° 19 10
JH-218 R1/8 45° 19 11
JH-210 M10x1 45° 19 11
JH-308 M8x1 90° 19 10
JH-318 R1/8 90° 22 11
JH-310 M10x1 90° 22 11

W R 2RPEDE A JGM-4200
Note:Usually supplied in 2m length,eg.JGM-4200

JG-4*** 5.5 $0.5
1G-6*** $7.7 $0.6 Loose coil spring
JGM-4*** $5.5 $0.5
=E
JGM-6*** 7.7 $0.6 Closed coil

D2

vz[ D1
R L

The surface is plated with white zinc

T4

$6

¢7

$4.2

7.4

JT-6

®9

$6.2

10.5

39



kol
JU-4T o4 $2 Copper
JU-4N 4 $2 rﬁﬁ
JU-4x0.75N P4 2.5 rﬁ?ﬁ
JU-6N $6 4 l%lotn
Ju-aL b4 $2 2
Aluminum
JU-6L $6 o4 Aluminum
i 35 BaRk
JU-6x1.25 $6 ¢ Black nylon

GJU-104

25

FREOR R
Customize the length as required

GJUT-86L 30
$8.6x4.2 ®6 10 12 20
GJUT-86 18
GJUT-106L 30
b10x4 6 10 13
GJUT-106 18 25
GJUT-108 b10x4 ®8 12 13 32

GJUT-86L 30
$8.6x4.2 b6 10 12 20
GJUT-86 18
GJUT-106L 30
b10x4 $6 10 13
GJUT-106 18 25
EER bR _ GIUT108 | 104 | ¢8 12 13 32
Customize the length as required

S S1
af=rh
—Hel=n ——
I M | | #

JLR1/8

R1/8

A Inside
5

40



w EEEEFH

Important for piping A

JA RSk JU
Oil tube connector

/ﬁﬂm WA N

Qil tube )

JPELBH: %
Through jiont

JBXUVERE
Gasket ring
JP JB

ENTEE

Methods of fastening

o AETAIRYEEREN. 5. BLE. VEARKSEMEER, THEH. B, TUR.
® HERLSREENHE, FEARGHEH2MEHE.

O THEBRANEBRAERE, FAHTABERL, FRAIRTER.

® Cut the metal aluminum,copper,nylon tube with sharp cutting tool,keep the cutting surface vertical with pipe axle and don,t
leave any cracks,oblique cutting or squash.

® Fix the JA joint and JB sealing washer to oil tube. 2mm of oil tube must be left before JB sealing washer.

® Plug oil tubein JP ioint to reash the bottom.and screw in JA ioionts and fasten with tools.

MBI
Oil tube cutting method —
Cutting surface

o DIKiERA. WE, ERAEMHINEN
Use special-purpose tube cutting machine to cut metal aluminum, copper tube. O BPEeEe———-

NG e——
o EFE/NMEWETIH X e

We suggest cutting by getting in oil tube sleeve and cutting.

fi. HEERR

Lubrication knowledge

|SORGE 432 (GB/T3141-94)
IS0 viscosity classification (GB/T3141-94)

EREEE E R ST
ISOMEER | TEMENZR (40°C) /(mm* /) ISOMEER | PESEDER (40°C) /m* /)

(40°C) / (mm*/s) CN 2 (40°C) / (mm* /s) =N 2%

2 2.2 1.98 2.42 100 100 90.0 110
3 3.2 2.88 3.52 150 150 135 165
5 4.6 4.14 5.06 220 220 198 242
7 6.8 6.12 7.48 320 320 288 352
10 10 9.00 11.0 460 460 414 506
15 15 13.5 16.5 680 680 612 748
22 22 19.8 24.2 1000 1000 900 1100
32 32 28.8 35.2 1500 1500 1350 1650
46 46 41.4 50.6 2200 2200 1980 2420
68 68 61.2 74.8 3200 3200 2880 3520

41



EihzohElprEmE

HEAK

Calculation of oil volume required for lubrication

TEIEIME B RS RN, EHNERRSE
Types of Moving objects Resist-type system

Volume type. Progressive type lubrication system

Ball-bearing
(Roller bearing
Cylindrical
bearing
Needle bearing)

TRTHIE
GRF. Fk. &)

SHE=[ GAATFLER x ) /254] x K

Oil volume Q=[(bearing diameter X bearing qty)/254] X K

HEQ=[ GhATLE X F%K) /250001 x K
Oil volume Q=[(bearing diameter X bearing qty)/25000] X K

TRENHAFLRTNZAT Plain bearing

SH=0=[ GlRTLEE x BRKE )/4301] X K

Oil volume Q=[(bearing diameter X contact length)/4301] X K

SHEQ=(mX HAFLEE X BAKE /25000) X K
Oil volume Q=[(rt X bearing diameter X contact length)/25000] X K

KSR
S ICTR
[XRRRRRA

SETH S 4 Smooth sliding track

ME=[ (KE+BaHTI) X TEE/16130] X K
Oil volume Q=[(block length+shift motion)X block width/16130] X K

0= (KE+HEH1TIZ) X FEE/25000] X K
Qil volume Q=[(block length+shift motion)X block width/25000] X K

MEC=[ (SR TEER X 1538)/2200] X K
Oil volume Q=[(diameter of pitchcircle X gear width)/2200] X K

HARPEREE<ENYERER
HEe=[n X HEEBERZM X &3E/25000] X K
AP ERBERE2E N ERER
HE=[n X NEREEBR X 4532/12500] X K
When large indexing circle diameter<2 times the diameter of the Small pitch
circle diameter
Oil volume Q=[(rt X The sum of the circle diameter X Tooth width)/25000] X K
When large indexing circle diameter>2 times the diameter of the Small pitch

circle diameter X . X
Oil volume Q=[(rt X The sum of the circle diameter X Tooth width)/12500] X K

JME0=[ZAhFREFL/8100] X K

Oil volume Q=[Contact surface area/8100] X K

SREERAT

worm and gear

HMEe=[n X HERERBERZM X WELITE/25000] X K

&5@ Qil volume Q=[rt X The sum of the circle diameter X Turbine width/25000] X K
Cam
wEXEH
0= (BBENHTIZ X 5U%0 /8501 X K ot _
0Oil volume Q=[(shift motion X The number of columns)/850] X K HEO=(nX HHfE X FEMFEREE /25000) X K
Oil volume Q=[rt X Shaft diameter X Contact width/25000] X K
zﬂ%yl Ball-bearing track

&

B+ S% Cylindrical sliding track

SHEC=[ (KE+BaHTI®) X H1&/4300] X K

Oil volume Q=[(shift motion +axle length) X axle diameter/4300] X K

HEO=[ (HEK X $%53%)/13000] X K
Qil volume Q=[(chain length X width) /13000] X K

.
<
X
=
(=]
1N

=
15

matters need attention

1. WARRER AR, ERR®EE;
2. B4 QFg:ZF (D) /B (h), KE B - K (mm)
3 KHEERY, SHEMEHREEX,

0-1. 58/ [1TRE OR) /57401 K=0.1-0.2
1.5-15%% /9340 [4T72 CR) /3¥h]  K=0.2-0.5
15-150%%/ 4340 [1732 CR) /5381 K=0.5-1.1
150-6005%/ 53 ¥ [1732 OR) /53 ¥h]  K=1.1-1. 65

AT 6005/ 53 $h [1THE OR) / 53 %]
A G0 OfEKIE I I — 15 .

1 the formula is empirical formula, which is suitable for thin
oil lubrication;
2.Lubricating oil Q is “ml/h”,unit of length is “mm”
3.K is the correction factor, which is related to the load and
movement speed.
0-1.5 turn / minute[Time / min] K=0.1-0.2
1.5-15 turn / minute[Time / min] K=0.2-0.5
15-150 turn / minute[Time / min] K=0.5-1.1
150-600 turn / minute[Time / min] K=1.1-1.65
More than 600 turn / minute[Time / min]
Speed per 10 times increase in K value will be doubled

1 EIE BN QRZEF () //NES (h) ;
2 EBRR AL QRZEF (ml) /4B (h)
3 KE RN ZK (mm) ;
4 KAEERY, SHFEFX;
— iR R K=1.0;
HAIFE K=1.5;
BITIME K=2.0;
MLFFEEIE K=2.5;
5 UEHHBTFHEER, M TF2a3NEE
THERF .
1.Lubricating oil Qis “ml/h”
2. Lubricating Grease Q is “ml/4h’
3. unit of length is “mm”
4. K as the correction factor, and the environment has the relationship
General environment K=1.0;
Dust environment K=1.5;

Moisture environment K=2.0; K=2.5:
Dust and moisture environment “=-2

5.The above calculation is used for manual lubrication pump, for full
automatic lubricationQil quantity halved.

42





